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1 | AT i 18] 7| 35| 43| 62| 17 5/ 3 84| 98 AL 7| 78] 93] 73| 50| 12| 7| 40| 93| 57 9 2 2
L 74.371.1/82.582.4|83.7 [76.0 77.3 168.5 86.0 | 85.7 73.8 191.8 |74.2 [85.4(83.2(83.8|83.2|82.7|75.585.8|80.4|86.9 78.4 1 63.1 .8
2 | RATIHEAA 13 7] 25| 25| 39| 21 3 3 64| 80 2 6| 18| 54| 58| 47| 28| 13 8| 39| 110 o1 0] 26 8
L 76.673.370.3|78.6|73.2 [76.8 73.5 | 64.1 77.8 181.4 58.4|70.4|73.5|81.275.8 |81.6|70.4|73.5|75.6[78.9 86.9|91.9 84.378.9 N
3 [ BRAIER 12 5 14| 24| 24| 13 3 2 47| 58 2 6| 15| 41| 44| 39| 14| 12 7| 24| 76| 65 10| 25 9
62.162.360.3|67.2|64.7/62.8 58.9 | 54.2 67.8 /69.3 54.8 |57.1|62.5[73.4|66.2[69.6|61.3|61.3|62.0[66.4|75.881.7 67.268.3 .9
4 [ REDER 9 1| 19| 24| 38 1 1 50| 712 1 41 2| 28] 40| 34| 18| 2| O 22| 58] 40 209 0
61.3 52.8|62.4|64.263.8 |55.1 47.7146.3 65.9|69.6 50.5|62.1|53.3|64.1|64.6|68.0|61.6|48.2 |-—— |64.1|69.4|65.6 51.962.9 .3
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L 48.259.1|51.460.0[59.9|60.9 ———143.4 61.0]59.8 ———165.9 |56.0|67.8 |54.5[61.1]50.5|51.0|-——{59.9|61.7|68.4 63.8 | 49.6 .9
6 | EEEEGT | 12 6] 31| 36| 53| 1 4 5 66 | 55 4110 6| 39| 53| 41| 45 9 7] 31| 26| 23 7] 20 .8
57.9160.1/65.9|65.5|68.1|66.2 64.059.8 68.8 |68.8 55.6|76.9|55.3|68.5|67.0|68.4|66.5|68.5|64.5|69.066.5]70.2 62.6|67.1 N
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L 56.3 | -———|63.4 | 64.7 |64.2 | 61.5 44.052.9 66.2 |61.5 59.6|63.7|58.5|67.464.0|61.3|62.8|63.0|51.1|63.7|59.463.1 61.4|44.7 .4
8 | BEBEINER 14 5 33| 40| 51| 11 5 2 65| 66 6 8 3] 32| 54| 42| 43 10 6| 28| 46| 38 8 0 .5
L 65.2 | 57.6|68.5|68.5|69.170.1 63.849.8 66.9 | 71.2 59.7|86.6|52.366.065.1|74.7|66.5|68.1|62.1[65.1[73.579.7 62.9 | —— .8 )
9 | HEEHIMNER | — | — | — | — |— | 0 1 1 16| 20 1 2 1 8 22 17 7 3 1 14 4 8 2 1 196 KIS TICENAERERE.
— || — | — | — [ —- 46.3 |51.2 59.9 |65.5 54.0 60.0|53.1(60.2|60.6|63.8|57.5|53.3|55.9|64.3|54.5|62.4 54.353.8 7| 7/3~9/6F TRE,
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_ 54.0 | -———— | 54.2 | 56.6 | 55.0 | 62.3 53.5|48.8 62.862.8 49.3167.9|—-|63.160.9|68.1|53.7|57.7|51.9 [65.8|66.8|70.5 64.2 | 63.4 .3
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57.867.7 | 67.465.3|68.0|61.4 67.3|55.5 62.6|71.2 60.2 | 56.4 |59.7 | 71.8 [ 65.8 | 70.1|63.1|58.0 | 66.3 | 67.3 | 66.4 | 69.2 65.2 | 71.7 .8
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55.557.0|52.8 | 60.0|57.2 60.3 60.6 | 46.0 60.5 |58.6 46.5|57.2|57.3|72.255.6 |65.1|51.2|57.5|59.9 58.1|67.569.3 52.8|62.2 .3
IHEINER 2 0] 15 70 17 5 2 0 36| 29 1 3 3 12 29| 30| 14 0 o 14 6 8 1 0 9
50.4 | ---- | 57.7 55.1|59.7 | 59.2 50.4 | —- 61.5|64.8 47.5063.3|56.3|58.7|61.8|64.1|56.8|——|-——[59.2|59.7|56.8 43.5 | — N
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5 _ |51.9|-—|56.4|57.5|60.2|47.0 — | — 56.4 |62.6 ——— |47.3149.9 |60.2 |63.4[58.3|54.8|50.6 | ——[59.1]67.4|73.9 49.8 | 44.1 1
ETEmRERAL | 0 0] 10| 14 14] 7 0| 2 25 T 2| 7 | 19 rn| 1| 2| o 8| 2| 2 40 .5
S ———— | -——-|59.5|62.1 |61.4 |62.0 ——— |51.4 64.9|56.0 47.0/50.2|59.7|66.368.0|61.0|61.6|49.9|——|60.2|55.860.3 59,5 | — N
BREEER 4 2 4] 10| 9 8 2] 2 20 10 20 4| 14| 24| 15| 14| 5| 4| 4| 10| 32| 36 4] 2 .8
49.8|57.6|53.6|57.4|56.7|56.8 50.5 | 48.8 63.062.0|58.7 49.1|52.3|58.876.959.3|62.5|54.0|49.8 |51.0[56.9|63.4|68.5 .2162.0(62.2 .2
EHPER | 1| 2| 3| 5| 2 2| 1| 1| o 4| 14 4| 8] 3| 2 1| o & 1 6 o] o 6 1| 1| 4 5[ 2 1 .3
L 50.6 | 56.2 | 53.5|58.2 | 56.1 | 58.0 48.0 | —- 60.6 |58.7|55.3|50.8|54.4|46.5 |—— |79.5[52.8 |54.4|56.0 | —— |———|57.7|56.9|43.3 |58, .4148.9(54.5 1
BIRER 30 0 5] 2 1| 4 3| 1 2 5/ 3| 3| 6| 3| 1| 2 &5 1] 3 0| o o 2 o of 2 &5 0] 1 A
50.2 | -—— | 57.355.9|43.4 [71.8 49.9 [49.0 54.6 |51.9|55.6|56.0|53.1|44.0|48.7 |63.5(43.4 |51.1 |——— |——— |—— [48.9|——|——|52.0|51.6 |—— |48.8 .4
KBIER 4] 3 3] 71 2| 4 1| 1] o 2 4] 7] 2| of 2 6 5[ of 1| 1| 3] 1| 2| 7| 6| 9 4 of o 9
L 55.2|53.3150.7|58.3|48.9 |67.9 43.2 | —- 53.1/56.8|59.1|49.0 |—— |58.9 |64.3|65.8 |——|56.3|43.5|54.4|47.0(55.7|55.7|66.5|71.1|68.4|—|— .5
EA3=a=F | 0| 0| 1| 1] 2 1] of o] o 3 3] 1| o of 2 1| 2 3] o of 1] of 1| 7| 4| 2| 3] of 1 4
| |a4—tv8— || ——145.7|49.4|47.5[43.3 — 52.3|61.7|55.5|—— |——|60.9 |45.1|53.3 |48.3 | —— | —— | 50.3 | —— [55.4 |56.3 |56.7|49.8|52.4 | —- |44.3 .1
TR R 3 2 o 7] 2| 0 [ o 5 14 10| 1| o0 2| o 7| 8] 8| 0| 2| 2| 11| 21| 20| 18| 20 2| 2 3
L 53.157.1|—— | 64.3|46.2 |—— 43.7 | —- 66.1|74.8|57.4|44.5 |—— |70.4 | —— |69.8 |56.1[59.2 | ——— |49.6 | 67.9(76.7|64.4|71.8|75.3|75.7|47.8|51.3 .4
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— ||| — | 48.7 | — — | — 52.5|68.5 | ——|——|——|——|44.3|82.9 [47.4 |51.6 | ——— | —— | ——— [59.0 | —— | 56.9 | 54.6 | 55.6 | 54.3 | 56.4 .3
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